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Section : General English

Q.1 Choose the most appropriate word that can substitute the given group of words.

A group of Lions
Ans & 1 Pack

o 2. Pride

x 3. Herd
X 4. Flock

Question ID : 239087971
Status : Answered
Chosen Option: 1

Q.2 Select the most appropriate meaning of the given idiom.

Pull up your socks

Ans x 1. To lose one's temper
“ 2. To put in extra effort
x 3. To play a joke on someone

X 4. To suspect some foul play

Question ID : 239087969
Status : Answered
Chosen Option : 4

Q.3 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No Improvement.

It is danger to cross the road unmindfully.
Ans J 1. It is dangerous

X 2. It is full of dangerous
x 3. There is danger

X 4. No Improvement

Question ID : 239087956
Status : Answered
Chosen Option: 1

Q.4 Choose the most appropriate word that can substitute the given group of words.

A person pretending to be somebody he isn't
Ans




x 1. Aristocrat
J 2. Hypocrite
x 3. Conservative

X 4. Bureaucrat

Question ID : 239087972
Status : Answered
Chosen Option : 2

error’.

The 91 year old lady have been a fan of cricket for decades. /No error
Ans X" 1. of cricket for decades

x 2. No error

x 3. The 91 year old lady
J 4. have been a fan

Q.5 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No

Question ID : 239087951
Status : Answered
Chosen Option: 1

Q.6 Choose the correctly spelt word.
Ans X" 1 Ignorence

x 2. Interupt

J 3. Thriller

x 4. Colaborate

Question ID : 239087973
Status : Answered
Chosen Option : 3

Q.7 Choose the correctly spelt word.
Ans  off 1 Knowledge

x 2. Patner
x 3. Lisence
x 4. Neice

Question ID : 239087974
Status : Answered
Chosen Option : 1

Q.8 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No Improvement.

You need have brought your umbrella as it is a cloudy day.
Ans X" 1 can have

x 2. could has
( 3. should have

x 4. No Improvement




Question ID : 239087954
Status : Answered
Chosen Option : 3

Q.9

Ans

Select the most appropriate meaning of the given idiom.

Eye wash
x 1. A problem

X 2. Afact

x 3. A solution
J 4. A deception

Question ID : 239087970
Status : Answered
Chosen Option : 4

Q.10 Select the most appropriate synonym of the given word.

Ans

Benevolent

X 1. Miser
x 2. Cruel

X 3. Malevolent
J 4. Generous

Question ID : 239087965
Status : Answered
Chosen Option : 4

Q.11
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Buffer stock refers to a (1) of a commodity that is used to offset price fluctuations

2) unforeseen emergencies. Buffer stock is generally (3) for essential
commodities and necessities like food grains, pulses, etc. The Cabinet Committee (4)______
Economic Affairs (5) the minimum buffer stock on a quarterly basis.

SubQuestion No : 11
Select the most appropriate option for blank No. 1.

X 1. reservation

X 2. reserved

J 3. reserve
x 4. reserves

Question ID : 239087960
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Buffer stock refers to a (1) of a commodity that is used to offset price fluctuations

2) unforeseen emergencies. Buffer stock is generally (3) for essential
commodities and necessities like food grains, pulses, etc. The Cabinet Committee (4)______
Economic Affairs (5) the minimum buffer stock on a quarterly basis.




SubQuestion No : 12

Q.12 Select the most appropriate option for blank No. 2.

Ans

Kif

o 2. and
X 3.also
X 4. even

Question ID : 239087961
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Buffer stock refers to a (1) of a commodity that is used to offset price fluctuations

2) unforeseen emergencies. Buffer stock is generally (3) for essential
commodities and necessities like food grains, pulses, etc. The Cabinet Committee (4)______
Economic Affairs (5) the minimum buffer stock on a quarterly basis.

SubQuestion No : 13

Q.13 Select the most appropriate option for blank No. 3.
Ans X 1. maintains
x 2. maintaining
J 3. maintained
x 4. maintain
Question ID : 239087962
Status : Answered
Chosen Option : 4
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
Buffer stock refers to a (1) of a commodity that is used to offset price fluctuations
2) unforeseen emergencies. Buffer stock is generally (3) for essential
commodities and necessities like food grains, pulses, etc. The Cabinet Committee (4)______
Economic Affairs (5) the minimum buffer stock on a quarterly basis.
SubQuestion No : 14
Q.14 Select the most appropriate option for blank No. 4.
Ans X" 1.in

« 2. for
X 3.to
x 4. at

Question ID : 239087963
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Buffer stock refers to a (1) of a commodity that is used to offset price fluctuations




2 unforeseen emergencies. Buffer stock is generally (3) for essential
commodities and necessities like food grains, pulses, etc. The Cabinet Committee (4)______
Economic Affairs (5) the minimum buffer stock on a quarterly basis.

SubQuestion No : 15
Q.15 Select the most appropriate option for blank No. 5.

Ans X 1 forces
75 2. guides
o 3. fixes
X 4. rules

Question ID : 239087964
Status : Answered
Chosen Option : 3

Q.16 Select the most appropriate option to fill in the blank.

They sat by the river bank with their legs in the water.

Ans X" 1. remaining
X 2. swimming
X 3. washing

J 4. dangling

Question ID : 239087975
Status : Answered
Chosen Option : 4

Q.17 Select the most appropriate antonym of the given word.

Linger
Ans J 1. Quicken

x 2. Stop
#< 3. Wait
x 4. Defer

Question ID : 239087968
Status : Answered
Chosen Option : 1

Q.18 Select the most appropriate option to fill in the blank.

A twelve year old boy drowned in a pit ____ up for the coastal road project.

Ans X1 dig
/5 2.digs
/X 3.digging
J44 dug

Question ID : 239087958
Status : Answered
Chosen Option : 4

Q.19 Select the most appropriate option to fill in the blank.




She had a bandage
Ans X" 1 covered

x 2. twisted
J 3. wrapped
x 4. bound

round her finger.

Question ID : 239087976
Status : Answered
Chosen Option : 3

Q.20 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No Improvement.

He made multiple attempts at securing a government job.
Ans X" 1 attemptin

J 2. No Improvement
X 3. attempt for

X 4. attempts through

Question ID : 239087955
Status : Answered
Chosen Option: 1

Q.21 Select the most appropriate option to fill in the blank.

We cannot quote a price
Ans X" 1 except

J 2. unless
x 3. because

x 4. whether

we are allowed to examine the sample.

Question ID : 239087957
Status : Answered
Chosen Option : 4

Q.22 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error'.

It would take up few of my time to explain to you the whole case. /No error
Ans  off 1. few of mytime to

X 2. No error

X 3. explain to you the whole case
X 4. It would take up

Question ID : 239087952
Status : Answered
Chosen Option: 1

Q.23 Select the most appropriate antonym of the given word.

Jovial
Ans X" 1 Hesitant




J 2. Gloomy

x 3. Cheerful

/X 4. Tired

Question ID : 239087967
Status : Answered
Chosen Option : 2

Q.24 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

He always stood up for the rights of the oppressed. /No error
Ans J 1. No error

x 2. He always stood up
x 3. of the oppressed
x 4. for the rights

Question ID : 239087953
Status : Not Answered
Chosen Option : --

Q.25 Select the most appropriate synonym of the given word.

Harass
Ans J 1. Molest

x 2. Assist

x 3. Comfort

x 4. Scare

Question ID : 239087966
Status : Answered
Chosen Option : 1

Section : General Intelligence & Reasoning

Q.1 Identify the diagram that best represents the relationship among the given classes.

Lawyer, Profession, Client

- OOO

X 2

vs @o




Question ID : 239087723
Status : Answered
Chosen Option: 3

Q2 & o 30w Apaar F A 39 e AR @ giaw S der & o wem agfy F wefgmaeatate
FiTER F g Fr e 8 8

>

Ans

F 0

Question ID : 239087720
Status : Answered
Chosen Option : 4

Q.3 U fafre ge simar &, ‘FRAUD’ <kt ‘6181214’ foiar Sran €, ‘RING’ @t “189147 forar sirar g1
It he WTaT # ‘GLOBE’ <hT hiS o1 gINIT?

Ans X" 17525121
/X 2.7125125
/X 3.7131525

W 47121525

Question ID : 239087705
Status : Answered
Chosen Option : 4

Q.4 fr=fafda el 7 @ 39 e g &t gfag, 9 ad dau @, st fR Ry g ez g A 81




e : TEigar s ?
Ans X" 1 fohaT  thae
X 2. o Tt
75 3.ooff 9=
VERGE L

Question ID : 239087701
Status : Answered
Chosen Option : 4

Q.5 A iy et & @ S dwn &l g St F=feaf@a siaen 4§ os Rig (7) & = w emgfh
63, 82,102, 123, 145,?
Ans  of 1 168
< 2.178
X 3.167
75 4.159

Question ID : 239087712
Status : Answered
Chosen Option: 1

Q.6 foh gt TeEaTedl ol IRER gea UR THieRror g gt smem?

9-2x4+6=-3
Ans X' 1 2qur4

W 2672
75 3.47u9
X 4.6au9

Question ID : 239087717
Status : Answered
Chosen Option : 2

Q.7 7fy us 0T Fr AR YW T IWT AW A & S IeaT Pl F ¥ P O gl vew el Frowdr

gfafye 2rfe
L -
K 3
B
Ans
A~ o
F
€ K




A~ L
K2

& A

(=
v

€ A

R~ |
F

3 A

Question ID : 239087721
Status : Answered
Chosen Option : 3

Q.8 U fafdre e wrem &, ‘LIP’ &t 40’ forar strar 8, ‘GILT &t 51" fora sirar g1 3+ wte v &
‘ROPE’ <hT ki< &I ghm?

Ans  of 1 57
75 2.56
/X 3.51
X 454

Question ID : 239087706
Status : Answered
Chosen Option: 1

Q.9 A v sjmen & wA &, T | gk s1er wigg ) i war @1 Ry 1y Reedt § @ ag ag
farerea g, STt si@er &t gr1 AT

ROD, XUJ, DAP, JGV, ?
Ans " 1.QNC
/X 2.PNB
75 3.qvB
o 4 PvB

Question ID : 239087699
Status : Answered
Chosen Option: 2

Q.10 Tt Jom &, few o0 Reedt # @ 50 Fww & AT A wed FEd () F ' 9wt

6 3 8 20
96 1 2
11 4 7 26

Ans J 1. 20
X217




<319
X4 14

Question ID : 239087715
Status : Answered
Chosen Option : 3

Q.11 dfg fheri K, L, M, N a1 P (S8 7181 o & 3t ohw A §1) ol SiWaR & prar ae Ramar s
21 Tk fo & dhaet Tep @ fhewt feats sirelt 21 uh fhed dhaet Uar &) R fe@ts st 21 e K
TaR & fe@tE St 21 N 921 P & #ed St fihed e st €1 L, P & &Yer Uah fo are s
St 81 M @ uget fohat fined RS et &2

Ans x1,2
X 2.4
X 31
v 43

Question ID : 239087709
Status : Answered
Chosen Option : 4

Q.12 = g g usr #, T FUA 3R I9F 91 37 HUA R sl Fo e g g g1 R g
FY] ol TE A §Y, 918 & AT ¥9 § 19 a4l § 9= vefia 814§, 9ot Fset @t ofeg
3R fiir FRruifa FifSig fk Ry 1g = d/@1 fAserd, =T @1 daifdhes ©0 9 SIgER0T sheat/dd
gl

FHYU:

1. gt mid wiF gl

Il. 5 ®iF fis €1

11. ht$ fie &1t 98 281

e

|. 5 &1 Wiet §1

Il. 5 fid B &1

ll. ¥ &1 wiet T8 &

Ans X" 1. et e | SIgEROT el 81
75 2. s oft Freene argeRon 78 g 21
o 3. et e 11 srgERor e 81
7 4. e e || STERoT ahal

Question ID : 239087710
Status : Answered
Chosen Option : 3

Q.13 = g g usr A, T FUA iR I9F T1E 3T HUAT R snenRa Fo e g mg g1 R g
FY] ol TE A §Y, 918 & AT 79 § 1 a4t § 9= vefia g4 &, 9ot et @t ofeg
3k foRr RrufRa FifSig i g g a-3/a1 P, wu=t o arfdha w9 @ srgaror swar/wa
gl

<hY-:
LafiT, P&l
I.FsP Q&I

fArentf:
L.g5Q,P&l
Il.FSPTE

Ans X 1 averet e |1 SREROT el &




75 2. ae i | SER0T ST R1
of 3. 2 Freere | e 1| srgeRor AR B
75 4. g oft e argerRon e e 21

Question ID : 239087711
Status : Answered
Chosen Option : 3

Q.14 A Ry faereal & & 39 Hwe g & g sit Fafaf@a siaen d us Rgh (7) Fumw
Kl

16,17, 23, 18, 19, 26, 20, 21, 29, 22,2, ?
Ans  of 12332

/X 2.25,36
/X 3.32,23
/X 4.36,25

Question ID : 239087713
Status : Answered
Chosen Option: 1

Q.15 &: RfFEFE, G, |, K, M a1 0 Tk Utk & IR hI 3k T &k @S gu & (S =11 foh & s«
A A g1 M, E & Ta el 31k @ST gotm 81K, 0 & i SR R S R E@ST g &1 1 auTM &
Aer 3t FRifereas @2 gu €1 K, G & arfi 31k 81 K & e ardi oiik ot @t gom &7

Ans x1_|
526
W 3E
75 4M

Question ID : 239087707
Status : Answered
Chosen Option : 3

Q.16 F=fafE@a usr |, Ry 7 fAeeal # 9 S&6fda s1ar g &t gfAgl
TIR: VKT ::?
Ans X" 1 RAP:TCS
75 2.L0D: NMF
o 3.GEM:1GO

X 4.GAR:IVT

Question ID : 239087702
Status : Answered
Chosen Option : 3

Q.17 Qe fafre ge wirar &, ‘'SOLVED’ &t ‘OSVLDE’ forat St &1 I+t ghe 9ot # ‘CREATE’ hl i
T ghm?

Ans X" 1 RCAETE

75 2.RCEAET

/5 3.RCTAEE




of 4 RCAEET

Question ID : 239087703
Status : Answered
Chosen Option : 4

Q18 Trmfafa wea # Ry v Reed § § v [ed () F T W A aer Fa # g
A A A A AAA
) r oo % ooo
A A / A A
o ° oe

Ans

X
opop
obed

<
opOop
obep

X 3

opop
epOpP

X 4

orepr
opep

Question ID : 239087718
Status : Answered
Chosen Option : 3

Q.19 =y & =i w7 smplod F R@w 3EN FES § vH gEe # A A § i O e e ) =m
STH W AW & 98 & M IR AEfaE F O e St fams e

L I e 0 I O W

Ans Faisbisisienoaivn  Hasinidgi i
QEI <><>
<. 58
S O
<§>C§>
e &0
S <O




Co 09 196 9
OOOO Oo 00

Question ID : 239087722
Status : Answered
Chosen Option : 4

Q.20 39 frehed o1 Ia+T o St IR 2reg § I R @ Hafda @ S8 gERT 2T UEe 2reg 9@ Hafda 81
e dar @t ?
Ans «14;@3,
X 291
75 3 e
X 4w

Question ID : 239087700
Status : Answered
Chosen Option : 1

Q.21 39 farehrea o1 T+ a3 STt ) T @ St avg & 6 & S g @ et sen @
Hafda 81

31:54::43:?
Ans X" 174
X 2,64
of 366
X 4.76

Question ID : 239087714
Status : Answered
Chosen Option : 4

Q.22 Ru 7w ¥t F1 weEE wemaa S #@R 5 e & g o g s F R e ded @
T HEM

Ans




X 3

Question ID : 239087719
Status : Answered
Chosen Option: 1

Q.23 B FHARIL, N, PR, T auT V & Y 3R T FRah U goIahR A1 & 3¢ - i a3 gu & (94
T fF A s s A @)1 V, N & arff sk g@R1 81 L, P & g arff 3R &1 R, P & arff ofik @i 81
P, N & arft o fter 1 V & i arff ok &l o1 gom &7

Ans x1_p
X 2N
T
X 4R

Question ID : 239087708
Status : Answered
Chosen Option : 3

Q.24 ge fafre ge wirr 7, ‘RAPID’ @t ‘LUJCX’ forar sirar &1 S+t e ot # ‘'STARE' &1 &S /T
ghm?

Ans  of 1 MNULY
/< 2. NouLy
75 3. MMULY

75 4.NPULY

Question ID : 239087704
Status : Answered
Chosen Option: 1

Q.25 T &t RgT IR Tgem R gHiwor 9gl g smem?
19+463+7-8x12=79
Ans X" 1+ qur-
X 2. xaur+
of 3. -aux
X 4. xau+

Question ID : 239087716
Status : Answered
Chosen Option: 3

Section : Numerical Aptitude

Q.1 =z mew o5 Ge=r #iF O § ST 460, 491 Fur 553 Fr fFeferd wdr § O v AEe & 26 99 @dr
&7

ans X127




X2 35
X3 33
v . 31

Question ID : 239087824
Status : Answered
Chosen Option : 4

Q.2 qﬁm,ﬁmwﬂgo%%a}m,mﬂﬂﬂmgﬁﬁm%?

Ans X1 15%
V2 25%
X 3 225%
X 4 20%

Question ID : 239087833
Status : Answered
Chosen Option : 2

Q.3  afy 212000 Fr 20% i 9§ Fr W F T T (TF 7T F FTEEH) W 2 T F v T@w G

T §, o Su TR 87
Ans  of 1. 35280
X 2 34280
~ 3. 34800
< 4 35640

Question ID : 239087838
Status : Answered
Chosen Option : 1

Q4 5 g7 b 77 3itwT 36 ¥ b TuT ¢ F 3T 42 ¥ ¢ FUT a F 7 Faar FRW E?

Ans X118
V212
X316
X414

Question ID : 239087828
Status : Answered
Chosen Option : 2

5 (Bx20Ff12-2) =9 KA+ 4+ 8+ 3 X2 FAR AT

Ans

Ko
X2
X 3

wl|E w|g w]|E




Question ID : 239087825
Status : Answered
Chosen Option : 4

Q.6 59 63, 68, 77, 74 FUT 73 F HOT HaaT ¥, I yede TEAT 23 ¥ fHaiEg ROr S £

Ans

X

23

X2

23

vz 3
X 4 46

Question ID : 239087827
Status : Answered
Chosen Option : 3

Q.7 zfy 21000 Fr 12.5% Wi a¥ & g7 ¥ WU =0 9 2 a9 F v Fer frar = &, 9 e

Ans

T &2

X 131125
V2 31250
X 3 31325
X 431275

Question ID : 239087837
Status : Answered
Chosen Option : 2

Q.8 &y fyam T &= @ S ffdew FofEt & w1 T ST qeut T Afgenst £ dEwm w g §

Ans

£ B
g B

Number of People
& 8 8

£
o 8

80 32 %
2681 a3 81
72
a4
I i
a [v] a ca ]

Company

C2 @ C3 Fufadl F &1 F<or 2ol Y6l & Fol T a7 C1 77 C6 Fafersdl # 1 Fter 7w

wfgenat & Fo TEr & s e 32

v 1181 ;
X 2182 :
X3 183 :
X 4 171

117
119
124
136

Question ID : 239087848
Status : Answered
Chosen Option : 1




W0 e R v sfes AR ot @amr wog 3 # s aa #

' omEr #r
3k :
TEI

10 - 12 6
12 - 14 8
14 - 16 5
16 - 18 7
18 - 20 4

f&3r 71T 32 T AT 3T (S HEE TUE %) fFaer 27
Ans X1 13.67

< 213.33

v'3 1467

< 4 15.33

Question ID : 239087830
Status : Answered
Chosen Option: 3

10 A T 26% = 832 ¥ A F 31% T AT FhaaT &2
Ans 1. 9B8

X2 876

X3 854

v 992

Question ID : 239087831
Status : Answered
Chosen Option : 4

QM gfrx:yv:z=1:2:3amX’ +Y +22 =24 % S X +Y + Z & A foaew &2
Ans X 1. 48

X2 32

<3 36

v 24

Question ID : 239087835
Status : Answered
Chosen Option : 4

Q.12 14 cm #r frer awr frdr 3 e 7 GOt OB ST 9UT T 58 & AT 27
Ans X1 5544 cm?, 1848 cm?




v 2 1848 cm?, 1232 cm?
/< 3 924 cm?, 616 cm?
< 4 2772 cm?, 1848 cm?

Question ID : 239087843
Status : Answered
Chosen Option : 2

Q.13 w=fmr A % 5 TNt BREr # & 30 R F = wa §) =2 B ¥ 8 e 38 s A
15 ReAT & #T woar §1 TR A F 1 T ik w3t B ¥ 1 oeniEae fees oeh e E

Rt Rt & ¥ w #
A
" ?(1.13ﬂ
v 2
X3 2=
?(4.%

Question ID : 239087839
Status : Answered
Chosen Option : 2

Q14 AfFrad T 20 RS TR T AaBE B s s H 5 At F s gea §1 B

Fur C et 38 w1 # 2 R F w1 g §| w9 w0 H e T A B T C Y g @
Fd e g7

Ans X115 :3:1
X210:4:1
K35:4:3
v415:5:3

Question ID : 239087840
Status : Answered
Chosen Option : 4

Q.15 31?4!’1HWW,WSP1WW@FWWG@%IE@'ZWWW,B@SPZW
A W g3 @ F 3 A g1 R A IEget F OAne T w8 & SP1 S SP2 F AT
[EnLCi-y]

Ans  of 1.7 -
X2 4:
K36
K47

L2 B o 3 [ % B =5

Question ID : 239087832
Status : Answered
Chosen Option: 1

Q.16




T TG F Hhd Hed 22800 ¥ G #1 BT e 32408 1 gT wiowa Thaer 2

Ans X 1. 18%
X 2 24%
X3 16%
v 4 14%

Question ID : 239087829
Status : Answered
Chosen Option : 4

Q.17 Fredr ot g 3o (Reisy) #r fr 7 em ¥1 300 =8 5w rsmm i e 31 dew (Reizn) =1
IF 55 HTE e 37

(-2 %)
Ans XK1 476 em?
< 21232 cm?
v'3 616 cm?
X 4 896 cm?

Question ID : 239087844
Status : Answered
Chosen Option : 3

Q.18 &y Ry v &5 M otw Rfdes Fufeat & S F3 aor ot qur ARenst f G B g §

- %6
8 81
72
Mo malke
. wFemale
a c 53

2

g

g

89

.‘,631
’ I
1 =

&

&

Number of People
- B

o

5 9 FARRT F F A A qEN A G TG, §F G aurd § w Fe o Agerst # Fw
TEIT @ (9T el Wiorerd A 87
Ans  of 1.12.48%
<2 967%
X< 3 8.52%
X 4 14.67%

Question ID : 239087846
Status : Answered
Chosen Option: 1

Q.19 = yeremer frer T @9 (TrvEd 9 Fr 3 e § 9% FEr ¥ 52 600 HET 79 w5
fiee & 9T et ¥ eEndr & Fad g iy e 37

Ans X 1. 3600 m, 18 km/h
« 2900 m, 18 km/h




<3900 m, 15 km/h
#< 41200 m, 15 km/h

Question ID : 239087841
Status : Answered
Chosen Option : 2

Q20 tr=mRTATBTF 0 mMh ST T AT E 38 B T A T 20 km/h FF a1fF & a9g #ie amar

Ans

3 of T # SR shww ARy R ¥
X 1. 26.5 km/h
V' 2 24 km/h
X 3 25 km/h
X 4275 km/h

Question ID : 239087842
Status : Answered
Chosen Option : 2

Q.21 o7 wemat F fgzfiet &1 aea 3 0 4 ¢ 5 ¥ A voaw Fwan F 20 o @@ BF I § & s

Ans

FETHT 4 ¢ 5 : 6 & ST §1 A=t et 3 et 39 oEr # smifEe g e 32

X 1.280
v 2 240
~<'3 320
X 4 300

Question ID : 239087834
Status : Answered
Chosen Option : 2

Q.22 fahr weaer #1551 4 cm &1 TR =1 &Y oo 442 om §1 3S SEwS T e 37

Ans

X133 :2
K223 : 1
V333 :4
K4 3/2 1

Question ID : 239087845
Status : Answered
Chosen Option: 3

Q.23




r e T E aw Wi fafden FulEt F S et aer g g Afgens’ @ FE w2 g

81
& 76
60
B Male
40
m Female
20
0

Company

B

Number of Peuple

F HT Ao Afgenst Hr gfy wuer siwd gE B 32
Ans  X1.71.8

X2 746

X3 722

v 706

Question ID : 239087847
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Q.6 Who is the Leader of the House in the Seventeenth Lok Sabha?
Ans x 1. Amit Shah

x 2. Rajnath Singh




( 3. Narendra Modi
x 4. Sushil Kumar Shinde
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Q.17 Which organization publishes ‘World Development Report'?
Ans x 1. United Nations Development Programme (UNDP)

x 2. World Economic Forum
x 3. International Monetary Fund (IMF)

“ 4. World Bank
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Q.18 Which award is often referred to as the ‘Nobel Prize of architecture’?
Ans J 1. Pritzker prize

X 2. Jawaharlal Nehru prize

x 3. Ramon Magsaysay

X 4. Abel prize
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Q.23 The branch of medical science that deals with kidneys is known as:
Ans X" 1. Opthalmology

x 2. Cardiology
x 3. Otorhinolaryngology

“ 4. Nephrology
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